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QUESTION 1

Why is SSH preferred over Telnet as a method of accessing a network device to alter or view the configuration? 

A. Telnet encrypts only the login information, not the entire transmission. 

B. SSH requires fewer network resources and no additional configuration. 

C. Telnet is more difficult to use and configure than SSH. 

D. SSH encrypts the login and session information. 

Correct Answer: D 

 

QUESTION 2

Which parameter would you tune to affect the selection of a static route as a backup, when a dynamic protocol is also
being used? 

A. hop count 

B. administrative distance 

C. link bandwidth 

D. link delay 

E. link cost 

Correct Answer: B 

 

QUESTION 3

Given a ring topology, which loop prevention mechanism provides the fastest reconvergence time after a link failure? 

A. Rapid Per-VLAN Spanning Tree Protocol 

B. Resilient Ethernet Protocol 

C. Multiple Spanning Tree Protocol 

D. Spanning Tree Protocol 

Correct Answer: B 

 

QUESTION 4

Exhibit: 
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Refer to the exhibit. Which port should a PLC with IP address 192.168.3.65 be plugged into in order to communicate to
the rest of the network? 

A. FastEthernet1/1 

B. FastEthernet1/2 

C. FastEthernet1/3 

D. FastEthernet1/4 

E. FastEthernet1/5 

Correct Answer: C 

 

QUESTION 5

You are a called upon to troubleshoot connectivity problems to a network device on a production floor. You have used
ping and traceroute to verify that you cannot connect to the device from the management network. The network is
209.165.202.128/27 and the device has been given the IP address 209.165.202.158 and mask 255.255.255.224. You
have verified that you can reach the device with your computer connected to the same switch as the device. What could
be the cause of this problem? 

A. The device is set to the wrong subnet mask. 

B. The device is set to the wrong IP address. 
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C. The device has no IP default gateway. 

D. The device is connected to a switchport in the wrong VLAN. 

Correct Answer: C 
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